&

TYPE CODE

K4V G 180

01

KEDA
HYDRAULIC

AXIAL PISTON UNIT _
01|Swash-plate design, variable, nominal pressure py 400 [bar], maximum pressure pae. 450 [bar] Kav

10

N

OPERATING MODE
02 Pump, close circuit

SIZE

03 Geometric displacement Q, mox [mL/r]

04

CONTROL DEVICE
Without control module

Proportional

pilot-pressure

hydraulic control 6~18 bar with inlet

Proportional

filtration in P?

mechanical servo

U=12v DC

electrical control U=24V DC

Two-point electric U=12V DC
control U=24V DC

Speed related

U=12v DC

automatic control U=24V DC

Direct operated hydroulic control

'NOTE: ® available

Without pressure cut-off
Pressure cut-off

Without neutral position switch |

Neutral position switch
Without mech. stroke limiter
External mech. stroke limiter

Without stroking chamber
pressure port Xs /X,

Stroking chamber pressure port -

DA control  without DA valve

valve fixed setting

mechanical o

adjustable +

position lever 9

non-mineral oil

mineral oil

pilot-control port
O upon request

1) For size 28~71: in P and X, /X;; 2) Only for HW,

001

28 40 56 | 7
28 40 56 TN
28 40 56 7 90 125 180
O 0O 0O O O O e
O O O O O O e
'O 0O O O O O e
O O O O O O e
o o 0o 0 0o o e
"o 0O O O O O e
o 0 0O O O O e
"o 0o 0O O O O e
"0 0O O O O O e
O 0 0 O 0O 0 e
[ & = =0 @&
[ o B © ©& 6 e
©O © 0 © 0 © e
O O 0O O O O e
‘o o 0 O 0O O e
'o 0O O O O O e
O 0O 0O O 0O O e
©c O 0O O O O e
NV HD HW DG DA EP
e o o o - o
- ® ®© e o e
- e e o e e
- e e e e e
- - = - e -
_ _ _ _ . _
- e e e e e
- unavailable preferred

/J1I0R-N Z DO2F02 1 S R

|02 03[04] 05 06

| 90

90

250

o

C| O [C|o|Oo|0|C|O|g|OC|o|la|O|O|0|0

m
® N

P-K

G
125 180 250 |
125 180 250
NV
HD3
HW |
(EP3 |
EP4 |
EZ1|
EZ2|
'DA1|
'DA2|
.DG
D
L
™M
.

:
3R
3L

4

8

7



K4VG AXIAL PISTON PUMP

Ka&v G180 [10 R-N Z DO02F02 1 S R P -K
01 02 03 04 [o05]06] [O07]08|09[W0] M 12 13 14 15 1€

SERIES 28 40 56 71 90 125 180 250
05 Standard He O O @ ) O ® o |10

'DIRECTION OF ROTATION i
| i View on drive shaft e clockwise R

i 2 counterclockwise L
SEALING
07 Fluoroelastomer (FKM) as shaft seals; Nitrile rubber (NBR) for others. N
DRIVE SHAFT 28 40 56 71 90 125 180 250
[DIN 5480] splined shaft single pump @ 8 9 0 © @ e 9| 7|
tandem pump 1 pump 2 - - - X - 202
- @] O O O O = = A
08 [ANSI B92.1a] splined single pump c o0 o0 o O o e O S
shaft S | O O —_ _ 2 - - — | g .
tandem pump T pump E - 3 o - o ° ol
2" pump - O - - @] - = = U
MOUNTING FLANGE 28 40 56 71 90 125 180 250
'[SAE J744] flange 2-hole [6 © 0 - - - - ~-]¢c
09 4-hole - - - - - - e O D
2+4-hole ' - - - 0 O O - =~-|F
WORKING PORT 28 40 56 7 90 125 180 250
Suction port S at bottom, on top and at bottom = (@] (@) ) O O ® - 02
[SAE] flange port A/B:  hoth on left side = = - 0o © o = =110|
10 = e = - = = - 18|10 |
Suction port S at top, on top and at bottom [ = O 0 o0 O 0 - 103 |
[SAE] flange port A/B: = o . O O O = = | 13
both on left side o - o - - - - | 13 |
THROUGH-DRIVE 28 40 56 7 90 125 180 250
‘Without boost pump without through-drive "0 0 O O O O e O N
| with through-drive 'O 0 O O O O e 0K
Integrated boost pump  with or without through-dive =~ © © © O O O ® O |F
Single pump without through-drive g @ e g © © @ O 00
IS0 3019-1] 82-2 [SAE A] %"-9T-16/32DP BElee ) o o e o | [0
| [150 3019-11101-2 [SAE B] %"-13T-16/32DP 0 ©c o oo ©o e o] 2
[SAE B-B] 1"-15T-16/32DP O Q ] O O O e O 04
[1SO 3019-1] 127-2 [SAEB-B]1-15T-16/320P - © - - - - - - | 09
i _ [SAE C] 1%"-14T-12/24DP - - 0 0O O O e o 07
[ISO 3019-1] 152-2/4 W35X2X16X9g S # - - O = = = 73
| [SAE D] 1%"-13T-8/16DP - - - - - 0o e 0O 69
[ISO 3019-1] 165-4 [SAE D] 1%4"-13T-8/16DP = # = = = = ® O 72
NOTE: ® available O upon request = unavailable preferred .

002



kﬁ KEDA
HYDRAULIC

K&V G180 /10 R-N Z D0O2F02 1 S R P-K

10 12 13 | 14 | 15 16 |

HIGH-PRESSURE RELIEF VALVE 28 40 5 7 9 125 180 250
Pilot operated with bypass |- = - BEeNONNCINeN © | 1
Direct operated, without bypass | O o O - = = = = 4
12 fixed setting with bypass 0o o o - - - = = | &
without bypass | O o O = = = - - 3
with bypass o o o - - - - - 5
FILTRATION / BOOST PRESSURE SUPPLY 28 40 56 71 90 125 180 250
Filtration in the boost pump suction line | O @)} @) (@] O O ® @] S
Filtration in boost  without attachment filter O o O O o o e O D
pump pressure line, \yithout attachment filter, with cold
ports for external ;\tflxrto\:JaISe PSRRI raRiee e @ & @ 8 @ = K
13 Eﬁ?os:ig:: CFL::}FG, attachment fﬂter + cold start valve - 0 o © o o e - F
a.ttuchment fJIlter * cqld start valve & O 0 O O 0 e _ p
visual contamination indicator |
attacﬁment fiitgr + _colq start valve & o o o 0 0 e -
_ electric contamination indicator | |
(External boost pressure supply (without boostpump) | O O © | E
SWIVEL ANGLE SENSOR 28 40 56 7 90 125 180 250
‘Without swivel angle sensor /O 0O O O O O e O
‘With electric swivel angle sensor | O O O O O O [ O R
CONNECTOR FOR SOLENOID 28 40 56 71 90 125 180 250
DEUTSCH - molded without suppressor diode | O @) O O O O [ O P
connector, 2-pin,  syppressor diode (only for EZ/DA) O O O O O O e 0/|Q
VERSION
Standard version  (without dash or code) |
%l with combined pump or parts - K
Special version S
with combined pump or parts | SK |
NOTE: @ available O upon reguest - unavailable preferred

003



K4VG AXIAL PISTON PUMP

HYDRAULIC FLUIDS

K4VG pump is design for operation with [DIN 51524] HLP mineral oil. Selection of environmentally
acceptable hydraulic fluids or fire-resistant, water-containing hydraulic fluids HFD (HFA/HFB/HFC
excluded) is allowed but must be specified when ordering.

Please contact us if any technical parameter cannot be adhered to.

1. Viscosity and temperature of hydraulic fluids

Operation Temperature Viscosity Remarks

Cold start tmn=—25°C/{-40 °C” Vmax=1600 mm?/s t<3 min, p<50 bar, n<1000 rpm
Warm-up . v=400~1600 mm?/s t=15 min, p=0.7 pn, N<0.5 Ny
Continuous  twe=+115°C/+85 °C" v=10~400 mm?/s atport T

Short-term . tmax=+115°C/+85 °C" Vamin=7~10 mm?/s t<3 min, p<0.3 py, at port T

NOTE: * NBR as shaft seals, please contact us.

2. Selection diagram
30 20 10 0 0 20 3 40 50 & 70 80 20 100

1000 =<<4==1<
Y AR N
CSSES NS
o T B L 640
AN AN SN
N \\‘i“\\ \\\\::m
e \\N:k\\\\\: L 320
~ AN
BEEIYYY -
E RN
= 100 \‘L‘\\\\T \\\:\ \_\\. \"\\\
= SSRSSSS : 80
g A VAN N
9 NN SNORSN
a8 SONNNRNY
— 7 — gg
\Q@\
S 20
A 16
10 & 10

10 20 30 40 50 &0 70 80 90 100
Temperature T [°C]

Y
Law |
3% ]
(=]
=]
L& ]

Before selection, figure out the relationship between ambient temperature and oil temperature in lines in a close
circuit. Make sure that any temperature in system must NOT exceed 115 °C.

The hydraulic fluid should be selected so that the operating viscosity in the operating temperature range is within the
optimum range vex=16~36 mm?/s (shaded area in selection diagram) and its viscosity grade should be as high as
possible. For example: whereat oil temperature in reservoir is 60 °C, both viscosity grades VG46 and VG68 are within
the optimum range (2 spots in shaded area of selection diagram), in this case, VG68 is preferred.

3. Filtration of hydraulic fluids
Finer filtration improves the cleanliness level of the hydraulic fluid, which increases the service life of the axial piston

unit. An [ISO 4406] cleanliness level of at least 20/18/15 is to be maintained during continuous operation; In case of
high temperature (90~115 °C) during short-term operation, cleanliness level of 19/17/14 is required.

004



'E KEDA
HYDRAULIC

TECHNICAL DATA

1. Working pressure range (when using hydraulic fluid based on mineral oils)

‘ Pressure K4VG Remarks

Minimum pressure 0.5 bar absolute at suction port S (inlet) in a
Suction ps, abs 0.8~5 bar short-term operation at cold start (t<3 min) is required to prevent
damage to the axial piston unit.

Boost pump psp 25~40 bar
Nominal px 400 bar at working port A/B (outlet)
Maximum Prmax 450 bar at working port A/B (outlet)

<25 bar high-pressure side  Minimum pressure at working port A/B (outlet) is required to

Minimum Prin p.+10 bar low-pressure side prevent damage to the axial piston unit. Here p.=case pressure.

Required control pressure depends on rotational speed/working
pressure/spring assembly of stroking pistons, which ensures the
function of control.

Control pst, min p.+20 bar (EP/HD/HW)
(at n=2000 rpm) p.+25 bar (DA/DG/EZ/ET)

2. Other technical data

T S s 40 s 7 %0 125 180 250
Geom. displacement Gy mex MLr | 28 40 56 7 90 125 180 250
| boostpump” Qus mlr 6] 86 M6 196 196 283 398 525
Rotational  Guae My rpm | 4250 4000 3600 3300 3050 2850 2500 2400
speed” limit? nmagim PM | 4500 4200 3900 3600 3300 3250 2900 2600

Nt Y Nmxwe rPM | 5000 5000 4500 4100 3800 3450 3000 2700

Moo 1P 500 500 500 500 500 500 500 500

Flow Qv LUmin | 19 160 202 234 275 356 450 600
Power nd P kW 79 107 134 156 183 238 300 400
Torque 200° Toac Nm | 178 255 357 452 573 796 1146 1592
| 4 T Nm 45 64 89 M3 143 199 286 398
Drive shaft 2 W25 W30 W30 W35 W35 W40 W50 WSS
A - W35 W35 W40 W45 wW4s - E

s R R A

T - - W W - > 2w oW

| v - & - - 1w - - -
InputTorque Z  Teme Nm 352 522 522 912 912 1460 3140 4350
A Temx Nm | - 912 912 1460 2190 2190 - -

S Teme Nm B4 602 602 602 1640 1640 1640 1640

T Tems Nm | - - 970 970 - 2670 4070 4070

| U  [Teme Nm | - 314 - - 602 - - -
‘Through-drive torque To,ms  Nm 231 34 521 660 822 MO 1760 2230
Rotary Z ¢ KkNmjod 328 675 788 1228 137 2237 3196 6242
Stffnessof A kNmhad| - 796 958 1424 1768 2565 - -
S ¢ KkNmod 314 69 808 988 1581 2183 2445 3545

T ¢ kNmfad - - 95 1209 - 2521 3184 5343

U ¢ KkNmjad - 508 - - 076 - - -

NOTE: - unavailable; 1) p=20 bar; 2) v..=16~36 mm?/s, mineral oil; 3) Valid at half corner power (e.g. A, ma and pu/2);
4) intermittent, valid at Ap=70~150 bar, or at Ap<300 bar and t<0.1 s); 5) At Qu, mex, Nv and Apy=400 bar, without
boost pump; 6) At Qy, max and Ape=100 bar, without boost pump.

005



_ Parameter
Rotary moment of
_inertiu

Angular
_cccelerution

Case volume
‘Weight

Center of gravity”

Axial force

Fax m

Radial force
(distance a to
shaft collar)

Fa, —

u

Era—

kgm

SIZBJ 28

2 0.0022 0.0038

40

56

0.0066

o radfs? | 38000 30000 24000

2
kg
mm
mm
mm
M, max N
= Fax, max N
WP max N
_" Fm:. max N
HFax,max N
" FoxmocN
*Fox max N

I Faxmax N
*Fax mox N

F FaxmacN
Famx N
:IJ mm
Faswn: N
;o mm
Famx N
_G _mm
IFamx N
a mm
Foma N
a mm

NXg <

0.9
29
<5

3. Determination of characteristics
Operation above the maximum values or below the minimum values may result in loss of function, reduced service
life or destruction of the axial piston unit, Check out all the permissible values by means of following calculation, etc.

Parameter
Geometric displacement per revolution gy

:D[fferential pressure
'Rotational speed

Volumetric efficiency

'Hydraulic-mechanical efficiency

Total efficiency
Flow
Torque

Power

Ap
n
Nv
|Nimh

M

Q =

P

1.1
31
<5
20
n2
880
2120
880
2120
860
2120

880
2120
3608
17.5
3092
20
3409
24

4261
19

P~ Ps.abs

Qv

0\:‘: theor

Quxp

1.5
38
<5
20
106
1490
2910
1490
2910
1450
2910
1490
2910

5051
17.5
4329
20
4772
24
4338
24

K4VG AXIAL PISTON PUMP

i

0.0097

21000

1.3

50

<5

15

135
2758
4242
2758
4242
2758
4242
2758
4242

5489
20
4803
22.5
6050
24
5500
24

Formula

= ﬂu" r1rnh

600 % Pqy, mox
Qv X nNXny

1000
qu * Ap

20 10X N
2nxTxn

60000

Qv x Ap
600 %

90

0.0149

18000

15
60
<5
20
145
2670
4330
2670
4330
2670
4330

2670
4330
6957
20
541
25
5478
33,5

7670
24

NOTE: - unavailable; 1) Dimensions X/Y/Z for location of center of gravity — see:

125

0.0232

14000

21
80
<5
30
160
3547
6053
3547
6053
3547
6053
3547
6053

8455
22.5
7516
25
7609
335
6658
40

:_[mLfr]
[bar]
[rpm]

[%]
%]

[%]

180

0.0444

11000

3.1
101
<5
33
180
4500
7500

4500
7500
4500
7500

9740
27.5

10956
55:5
8522
40

Unit

250

0.0983

6700

6.3
156
<5
30
203
4150
4150

4150
4150
450
4150

12298
29

15217
33.5
11836
40

006



‘% KEDA
HYDRAULIC

03 SIZE & DIMENSIONS

Following figures are about K4VG pumps' dimensions of all sizes, classified by port distributions:
(1) Code 02: Suction port S and working port A at bottom, working port B on top.

Code 03 is not shown, the port plate rotates 180°, i.e. the suction port S and working port A on top,
working port B at bottom.
(2) Code 10 (left): Suction port S at bottom, working port A/B both on left side.

Code 13 (right) is not shown, the port plate rotates 180°.
(3) Code 10 (right): Suction port S at bottom, working port A/B both on right side.

Code 13 (left) is not shown, the port plate rotates 180°. Size 28/56 and size 250 have some different
structures, refer to notes in figure, e.g. "28/56HD" means "here exists HD valve in size 28/56".

Fig. 1(1). RHSV, code 02 ¢ Cps

L& ¥ Pz D HD
@ P/ Ag

= D i | El e
. = -Me g F|T
£ ﬁ ol 7|7
| - i: i ] 1
. R V-
- i_::z-2 f
E ® : . = =
L] (L : | 'MA =
\i
Cr2 Ts |S| HD
Cy
bs '
A 1
- SIZ& o8 KAVGAD  KAVGS6  KAVG71  KAVG90  KAVGI2S  KAVGIBO  KAVG250
Dlmensmns] |
o FOO - 2357 256.4 293.6 301 326.4 3709 -
NoO| - 2202 2394 2791 287 320.9 3709 =
E | - 12.7 127 12.7 127 12.7 159 -
Fo| - 15 23 15 17 20 22 -
H | - 76 83 92 100 107 A =
Cs | - 125 129.5 157.3 158.5 184.5 219 =
Cn | - 100 109.5 152.5 160.7 184.5 209 -
G | - 2017 218.4 214 2175 239.4 286.4 -
G |- 182.7 2004 237 2485 274.4 3059 =
He | - 1 45 65 59 52 A =
B | - 67 76 77 79 91 93 -
Ho | — A A A A A 32 -
Hue _ - A A A A A ay -
Vo | - 1035 108.5 A A o A =
Vig - 1335 1385 135.3 147.9 1485 1385 -

-NOTE: - unavailable; & pending; * Single pump in type FOO or NOO.

007



K4VG AXIAL PISTON PUMP

Fig. 1(2). RHSV, 10 (left) E Ceg
F
HC@ F"—t D HD
@ P Am
— == NS/ . | MH =
@ a8 T
- = @ | =
i -
] wn
I @‘ N £
® e T
] M~
. \
Cr2 T3 MylSHD
Cg
s '
A |
S8\ G208 KAVGAD  KAVGE6  KAVGT!  KAVG90  KAVGI2S  KAVGISO
IDHnenmons|
A FoO | = = = 293.6 301 3264 =
NOO | = = = 2791 287 320.9 =
E = = = 12.7 P 12.7 =
F = = = 15 A 20 =
H - - - 92 P 107 =
Crs i = = 157.3 Fa¥ 184.5 =
Cr = = = 152.5 Fi 184.5 =
Cs = e = 214 A 2394 =
Cs = = = 231 FaN 262.9 =
He - % % 65 Fal 52 -
Ho - - - 605 5 - =
Hes = = = 77 P 91 =
Vie | = = = 128.5 Fay 148.6 =
NOTE: — unavailable; ~ pending; * Single pump in type FOO or NOO,
Fig. 1 (3). RHSV, 10 (right) E Cps
F
® .
F) §—h
] L | ;Ps D 5;8/ 5.“6H[f| i
l - | | VMg
= e 12
. S | g
o
=1
&0 of =
- - N | ,g(} )
@ it 4 1 = =
Nelef 7=
ITQ MHf g"' 28;"56HD
.:;'s
Ca=Cy
A

K4VvG250

008



'E KEDA
HYDRAULIC
- _Size
. | K4VvG28 K4VG40
Dlmensmnsi
A" FOO | 2234 =
NOO | 213.9 5
E .5 =
F 15 =
H 76 -
Ces M5 =
Cn 102 -
o 183.4 -
Cs 175.4 =
Ha 37.5 -
Ha 37.5 =
Hps 67 -
Vo 103.5 =
V'ip 133.5 =

Fig. 2 (1). FV, code 02

~ Size
Dimensioﬁﬁ'i
w
W,

K4VG28

Ha

Ha

K4VG56™

256.4
239.4
127
23
83
129.5
109.5
205.4
197.4
375
375
76
113.5
143.5

K4VGT1

L

il

Wi

K4VG90

K4V(G125

K4VG40

93
105
66
68
68
77
77
71.5
7.5
129.5
48

e g == g = = - ———

&

g K HD
e
Wr W |
K4VG56  K4VG71  K4VG90
106 115.5 113
A 1185 118.5
69 84 86
75 83 80
75 83 80
86 84 102
86 84 102
825 80.5 91
825 80.5 91
142 152.5 178.5
54.5 53 70.5

NOTE: — unavailable; ~ pending.

009

K4VG125

137
M
82.5
94
94
15
15
103
103
191
75

K4VG180

K4VG180

145.6
156
96.5
100
100
107
107
103
103.5
197
63

K4VG250

410
398.2
159
22
137
265
214
349 4
348 4
58
58
126

NOTE: - unavailable; & pending; * Single pump in type FOO or NOO; ** Only for code 13 (left), port plate rotates 180°.

K4VG250



K4VG AXIAL PISTON PUMP

Fig. 2 (2). FV, 10 (left)

HFa

Hg

SiZel V628 KAVGAO  KAVGS6  KAVGT!  KAVG90  K4VGI25  KAVGIB0  KAVG250
Dimensions |
W - B - 115.5 A 137 - -
W - - - 1185 A A - -
We & - - 105.5 A A - -
Wn - - - 83 A 94 - -
W | - - - 83 A 94 - -
Hs - - - 80.5 A 103 - -
Hee | - - - 80.5 A 98 - -
He | - B - 152.5 A 191 - -
Hr, - = = 53 A 75 = =

lNOTE: - unavailable; 4 pending.
Fig. 2 (3). FV, 10 (right)

Wr Wrs

010



'E KEDA
HYDRAULIC
TSIZ8l VG628 KAVGAD  KAVGSE  KAVGT!  KAVG90  KAVGI25  KAVGIBO  K4VG250
Dlrnensmns_
w | 93 - 106 - - - - 166
W, 105 - A - = = = 1737
Wn 68 - 75 - - - - 133
W 68 - 75 - - - - 133
Ha 715 - 82 - - - - 123
He 715 - 82 - - - - 158
He A - A - - - - 229.2
He 1295 - 142 - - - - A
Hrz 48 = 545 s = - - 66
NOTE: - unavailable; A pending; * Only for code 13 (left), port plate rotates 180°,
Fig. 3 (1). LHSV, code 02 Cri
P, 5.9)
Fq1 HD D Ty |
‘.. L ﬁll \
Fe - —
\\ 4 1 o, — e ——————— o
@) &/
-~ NI/
2 I s
Fs— ;’9 B ]
1 -.J M ﬂi_
= H <
HD (-Fe
o SIZ® UG5 KAVGA0  KAVGS6  KAVGT1  KAVG90  KAVGI25  KAVGIBO  K4VG250
Dlrnensions_
Cn - 100 109.5 152.5 160.7 184.5 209 -
Ce | - 198.7 215.4 239 2485 2679 3.9 -
Hn - 55 64.5 53 705 75 63 -
Hee . 0 0 8 24 20 3 =
Heat - 26 26 31 31 43 43 -
Hee - 26 26 31 31 43 43 -
Fig. 3 (2). LHSV, 10 (left) Gy
HD D
r\n:
o T\ P¥L -
T eee B
= [j[o ee®
(N A
1/
foTeo |
g=Ca

on




K4VG AXIAL PISTON PUMP

S8 628 KAVGAD  K4VGS6  KAVGT!  K4VGI0  KAVGIZE  KAVGIS0  KAVG250
|Dimensions _
Ca | - - B 241 A 2734 = =
Cn | - - - 1525 A 1845 - -
Hn | - = - 53 A 75 - =
Ha - = - 45 A 58 = =
He | - — - 45 A 58 - -
NOTE: — unavailable; A pending.
Fig. 3 (3). LHSV, 10 (right) Cry
28/56HD
"y )
:I:::‘. -
ﬁ —
o —
28 /56 HD |
_ |
S8 uaom KAVGAD  KAVGSST  KAVGT]  KAVGI0  KAVGIZS  KAVGIS0  KAVG250
Dlmens10ns| _
Cc | 1954 - 218.9 - - - - 369.4"
Cn | 102 B 109.5 - - - - 214
Hn | 55 - 645 %, - - - 62
Ho _ A - max. 136 =N - - - A
He. 1 = 4 = = = - 158"

NOTE: - unavailable; & pending; * Only for code 13 (left), port plate rotates 180% ** Port G on top for size 250.

Fig. 4 (1). PLAN, code 02

|

fes
=p

[
|

012



'Fi KEDA
HYDRAULIC

_ s|ze KAVG2H  KAVGAD  K4VG56  KAVG71  K4VG90  K4VGI25  KA4VGIB0  KAVG250
iDlmensmns ‘
Cts - 191.7 206.9 240 2475 279.4 3159 -
G | - 241 30 713 90.2 955 138.7 -
Cs | - 180.7 194.4 233 2475 2734 3049 =
Wre | - 65 62 76 66 86 88 -
Wee | - 85.1 881 100.1 94.1 n7 171 -
Wes - 68 72 80 77 90 93 -
Wsp = A A A P max. 157.3 4 -

.NOTE: - unavailable; & pending.
Fig. 4 (2). PLAN, 10 (left)

]

L

Ps  Sp G “Ma/Mg

| SlZe 628 KAVGAO  KAVGS6  KAVGT!  KAVGO0  KAVGI2S  KAVGISBO  KAVG250
;plmensionsj

Ce | - A - 241 = 2734 % —
Cra | = = = 226 A - - =
Ce _ - - - A A 955 = s
Wee | = = = 13 fa) 12 - -
Wee | - - - 24 A - - -
Wes | = = = 80 A 90 = ==
Wso | - - - max. 154 A max. 158.5 - -
_ Wm_a | = = = 102 A 104 = =
Fig. 4 (3). PLAN, 10 (right) L ?8_/{‘1 6Mg/ My '
== ™

LI

Cr

013



~_Size

TP K4VG28  K4VGAD  K4VG56'  K4VGT1 KAVGID  K4VGI25  KAVGIB0  K4VG250
Dimensions :
Cx A - 30 - - - A
Cre 178.4 - A - - - 3534
Wro 195 - 195 - - - 48
Wre 19.5 - 195 - - - 32
W 83.5 - 945 - - - 8
We, 68 - 72 - - - - 107
Wsp A - 108.5 - - - - 183.5
We | & - 93 - - - - 1455
NOTE: — unavailable; & pending; * Only for code 13 (left), port plate ratates 180 ** Port G an top for size 250,

e H4 Flange
0¢ DRIVE SHAFT = ;
o %
=t el «
Ti ro
T2 -
~—Size K4VG28 K4VG40 ' K4VG56 K4VG71
Dimensio-ﬁ's"'_' Z shufté S shaft Z shcxft!A shaftiS shaft | U shaft Z shuftEA shuft% S shaft Tshaft Z shaftg A ShCIft; S shuft| T shuf‘(é
H, 29 30 27 32 40 30 27 32 40 40 32 37 40 40
Hs 35 38 35 40 48 38 35 40 48 48 40 45 48 48
Hy 45 46 45 50 56 46 45 50 56 56 50 55 56 56
T, 75 75 75 95 95 75 75 95 95 95 95 12 95 95
T. | 22 22 22 28 28 22 22 28 28 28 28 3 28 28 |
rn  Rl.6 RL6 RL6 RL6 RL6 R6 RL6 R6 Rl6 RI6 Rl6 R25 RL6 RL6 |
Ji I MIO % OMIO M2 7 % OMIO M2 78 78 M2 M6 76 76 |
J, 0216 9208 ©246 929.6 ©258 0208 ®24.6 9296 258 0302 ©29.6 ©346 9258 ©30.2 |
K ®72 ®72 ®80 ®80 ®80 ®80 B8 D68 D68 D68 8] B8] B8] B8]
Z W25X1.25X18 W30X2X14X9g W30X2X14X9g W35X2X16X9g '
A - W35X2X16X9g W35X2X16X9g WA40X2X18X9g
S;L'ggd S 1"-15T-16/32DP 1/"-14T-12/24DP 1%4"-14T-12/24DP 1%4"-14T-12/24DP
T] - - 1%"-21T-16/32DP 1%"-21T-16/32DP
._ u - 1"-15T-16/32DP - -
~ _Size K4VG90 ‘ K4VG125 | K4VG180 K4VG250
Dimensions | Z shaft|A shaft S shaft U shaft Z shaft A shaft S shaft T shaft|Z shaft S shaft| T shaft Z shaft S shaft T shaft
H, 32 42 55 40 37 42 55 66 44 55 58 47 55 58
Hs 40 50 67 48 45 50 67 80 55 &7 80 58 67 80
Hq 50 60 75 5 55 60 75 8 65 75 88 68 75 88
T 95 12 12 95 12 12 12 12 12 12 15 15 12 15
T, 28 3 3 28 3 3 3 36 3 36 42 42 36 42
ro RIL6 R25 R25 Rl6 R25 R25 R25 R4 R4 R25 R4 R4 R4 R4
Lo M2 M6 %' 78 M6 M6 % % M6 % W M0 % W
. 0296 @396 ©36 @258 ®34.6 0396 P36 0423 G446 P36 486 D496 36 486
K 81 81 81 @81 091 @91 91 @91 107 0107 @107 0121 @121 *12] |
z W35X2X16X9g W40X2X18X9g W50X2X24X9g W55X2X26X9g
A W45X2X21X9g W45X2X21X9g - -
Sspri'gfetd S 1%"-13T-8/16DP 1%"-13T-8/16DP 1%"-13T-8/16DP 1%"-13T-8/16DP
T - 2"15T-8/16DP 2Y4"17T-8/16DP 2Y4"-177-8/16DP
u 1%4"-14T-12/24DP - - -

K4VG AXIAL PISTON PUMP

014



'E KEDA
HYDRAULIC

0% MOUNTING FLANGE

C flange” D flange F flange”

Fi
Ry

Rl e = B

sizei K4VG28 K4VG40 K4VG56 K4VGT71 K4VG90 K4VG‘f25 K4VG180  K4VG250
Dimensions | Cflange C flange C flange F flange F flunge F flange Dflange  Dflange

N | ol06 @127 @127 ®127 ®152.4 ©152.4 ®165.1 ?165.1
P - - - 1425 200 200 270 270
P, 174 213 213 213 266.6 266.6 - =
Q 120 148 148 = = = = =
@ | 2 31 31 A A A . -
R ~ - - 145 1616 161.6 2245 2245
R. | 146 181 181 181 2286 2286 - -
no - - - 14.4 21 21 ®21 ®21
r) 15 18 18 18 21 21 = =

SAE flunge' 101-2 (B) 107-2 (C) 107-2(C) 107-2/4 (C) 154-2/4 (D) 154-2/4 (D) 165-4 (E) 165-4 (E)
NOTE: - unavailable; & pending; * Contours of C and F flanges may differ from figure.

10 WORKING PORT

& O 19
=1 (s
s <D
SO I
| — 1 Mo o* | "
' @€ [ = 1
o|la =
e A 1
D O
— ! S Y B
SiZe  AVG28  KAVGAO  KAVGS6 K4VG71 K4VG90  K4VGI25  K4VGI80  K4VG250
Dimensions| = o -
a | 238 23.8 23.8 27.8 27.8 31.8 31.8 26.5
b | 508 50.8 50.8 57.2 57.2 66.7 66.7 79.4
c | o 19 19 ®25 ®25 32 32 38
d  MIOX1.5X17 MIOX1.5X17 MI0X1.5X17 M12X1.75X17 M12X1.75X17 MI14X2X19  MI14X2X19  M16X2X21
workirg A..‘BI 3;(." %H ?}(‘ll 1" TIF 1%“ 1%“ 1]//2”

Suction S| M33X2X18 M33X2X18 M33X2X18 M42X2X20 M4A2X2X20 M48X2X22 M48X2X22 M48X2X22

015



K4VG AXIAL PISTON PUMP

OTHER PORT PARAMETERS

Missing dimensions of ports of all sizes can be found in following table. All ports based on DIN 3852.

< eckiiaol
Port !
Boost-in G M12X1.5X12 M12X1.5X12 M14X1.5X12 M18X1.5X12 MI18X1.5X12 M22X1.5X14 M22X1.5X14 M14X1.5X12

Boost-in Fa :M]BX‘I.5}(12 M18X1.5X12 M18X1.5X12 M26X1.5X16 M26X1.5X16 M33X2X18 M33X2X18 M35X2X18:

K4VvG28 K4VG40 K4VG56 K4VGT1 K4VG90  K4VG125 K4VGIB0  K4VG250

:Boc-st-in Far | - M18X1.5X12 M18X1.5X12 M22X1.5X14 M22X1.5X14 M33X2X18 M33X2X18 = _
Boost-out Fe M18X1.5X12 M18X1.5X12 M18X1.5X12 M22X1.5X14 M22X1.5X14 M33X2X18 M33X2X18 M33X2X18 |
Cold start Fs - M18X1.5X12 M18X1.5X12 M22X1.5X14 M22X1.5X14 M33X2X18 M33X2X18 =

Measure Mys MI2X1.5X12 MI2X1.5X12 M12X1.5X12 MI2X1.5X12 MI12X1.5X12 MI12X1.5X12 MI2X1.5X12 MI4X1.5X12
:Mec:sure MH:M]2X].5X‘!2 M12X1.5X12 M12X1.56X12 M12X1.5X12 M12X1.5X12 M12X1.56X12 M12X1.5X12 MMX?.SX'IZ:
Drain Ty/T, | M22X1.5X14 M22X1.5X14 M22X1.5X14 M26X1.5X16 M26X1.5X16 M33X2X18 M42X2X20 M4A2X2X20
Airbleed R | M12X1.5X12 M12X15X12 MI12X1.5X12 MI2X1.5X12 M16X1.5X12 MI16X15X12 MI16X1.5X12 MI6X1.5%12
Control Xi/X; MI2X1.5X12 M12X1.5X12 MI2X1.5X12 MI12X1.5X12 MI6X1.5X12 MI16X1.5X12 MI6X1.5X12 MI6X1.5X12
Chamber Xsis MI2X1.5X12 MI12X1.5X12 MI2X1.5X12 MI2X1.5X12 MI12X1.5X12 MI2X1.5X12 MI2X1.5X12 M16X1.5X12
Pilot Ps jM14>(1.5)<12 M14X1.5X12 M14X1.5X12 M14X1.5X12 M18X1.5X12 M18X1.5X12 MI8X1.5X12 M18X1.5X12
Pilot-outY | M14X1.5X12 M14X1.5X12 M14X1.5X12 M14X1.5X12 MI18X1.5X12 M18X1.5X12 MI18X1.5X12 MI8X1.5X12
PilotY;fY; | MI4X1.5X12 M14X15X12 MI4X1.5X12 M14X1.5X12 MI4X1.5X12 MI4X15X12 M14X1.5X12 MI4X1.5X12
Pilot (inch) Z MIOXIX8  MIOX1X8 MIOXTX8  MIOXIX12  MIOXTIX8 MIOX1X8  MI0X1X8 MIOXTX8 |

U4 CONTROL DEVICE

K4VG pumps can be equipped with various control devices, for instance, direct operated hydraulic
control DG, without control module NV, hydraulic proportional control HD/HW, electrical control with
proportional solenoids EP, two-point electric control EZ, speed related automatic control DA. Possible
for DG/HD/HW/EP control devices to be equipped with a DA control valve.

1. DG - Direct operated hydraulic control

The output flow of pump is controlled by a hydraulic control pressure, applied directly to the stroking piston through
either port X; or X,. Flow direction is determined by which control pressure port is pressurized. Pump displacement is
infnitely variable and proportional to the applied control pressure, but is also infuenced by system pressure and pump
drive speed. In order to use the optional built-in pressure cut-off, port Ps must be used for the selected control module
as source of the control pressure X; or X, generated on the customer side.

— Maximum permissible control pressure: 40 bar;

— When equipped with a DA control valve, automotive operation is possible for travel drives.

_ il | |
i {E"‘v| | i {E’-‘J v.{ﬂw' |
AR | T = | A Lobd | [ oty | |
% — S || =3 — ——— .
T =L w17 et |
O — E——— 5 A | | ————— A —— — i
~ ACircuit diagram DG ~ ACircuit diagram DG+DA

016



‘E KEDA
HYDRAULIC

¥ Correlation of direction of rotation, control and flow direction for DG control

Size K4VvG28/40/56 K4VG71/90/125/180/250
Rotation e clockwiseR o counterclockwisel o clockwiseR = counterclockwisel.
Control pressure X X; X Xz X Xz X Xz
Flow direction - A-B B- A B- A A-B B+ A A-B A~B B-A
Workingpressure M Ma Ms Ma M, Mg Ms M,

2. NV - Without control module

The mounting surface for the control module is machined and sealed with the standard seal for control modules and a
cover plate. This version is ready for retroftting to control modules HD/HW/EP/EZ. When (in combinations) with DA
control, appropriate adjustments must be made to the spring assembly of the adjustment cylinder and control plate.

| i |
| i i I i "‘ | - |

i, | =T & 1
| R gt
pps =t =
i |.. i 1 My & >

4 Circuit diagram NV

3. HD - Pilot-pressure related hydraulic proportional control

The output flow of the pump is infnitely variable between 0~100%, proportional to the difference in pilot-pressure ps
applied to the two pilot-signal ports Y; and Y. The pilot-signal coming from an external source is a pressure signal and
acts only on the control spool of control valve, which directs control oil into and out of the stroking cylinder to adjust
pump displacement as required. A feedback lever connected to the stroking piston maintains the pump fow for any
given pilot signal within the control range 6~18 bar.

ACircuit diagram HD A Circuit diagram HD+DA

¥ Correlation of direction of rotation, control and flow direction for HD control g
Size K4VG28/40/56 K4VG71/90/125/180/250
~ Rotation o clockwiseR | o counterclockwisel e clockwiseR o counterclockwiseL
Pilot-signal Y, Y. Y, Y, Y Ys Y Y,
Control pressure- X Xz X X X Xz X Xz
Flow direction A~ B B~ A B~ A A-B B+ A A-B A~B B-A
Working pressure M M, My Ms M, Ma Mg M

4. HW - Hydraulic proportional control with mechanical servo

The output flow of pump is infnitely variable between 0~100%, proportional to swivel angle B #(3~29)° of control lever.
Rotational limits of B for K4VG28~71 is +40°, for K4VGI0~250 is +35°. To prevent damage to the HW control module, a
positive mechanical stop of 36.5°+1 must be provided for the HW control lever on the customer side.

The neutral position switch is closed when the contral lever locates in its neutral position. The switch opens when the
control lever is moved out of the central position in either direction.

017



K4VG AXIAL PISTON PUMP

[ el ot 5 |
B T L O S
| e (R — |
I - - e 11N T E==aEe.| |
- S 5 T T o0 Wi
|| na s | e | A | ] Py
éﬁlﬁ-: i T 3._1 T D= éﬁuf‘ : .i' 5 _| —; — D=
| Di i e (] I ol e il -
= e e e e s s o) w8 S0 e e s : mywn— i 18 0
“ACircuit diagram HW " aCircuit diagram HW+DA
'¥ Correlation of direction of rotation, control and flow direction for HW control
Size ' K4VG28/40/56 K4VG71/90/125/180/250
Rotation e clockwiseR - o counterclockwisel o clockwiseR . o counterclockwiseL
Lever direction| =~ left ~ right ~ left ~ right ~ left ~ right ~ left A right
Comrol pressure X X X2 X Xz X Xz X
Flow direction B~ A A-B A-B B- A A-B B-A B-A A-B
WOﬂ(Il'lg pressure MA MB MB MA MB M,n, Ma Ma

5. EP - Proportional electrical control

The output flow of the pump is infnitely variable between 0~100 %, proportional to the electrical current supplied to
solenoid. The electrical energy is converted into a force acting on the control spool, which directs control oil into and
out of the stroking cylinder to adjust pump displacement as required. A feedback lever connected to the stroking
piston maintains the pump fow for any given current within the control range 400~1200mA (EP3) or 200~600mA (EP4).
— For EP3, voltage = 12+2.4 V, nominal resistance at 20 °C = 5.5 Q, current limit = 1.54 A;

— For EP4, voltage = 24+4.8 V, nominal resistance at 20 °C = 22.7 Q, current limit = 0.77 A;

<> I fo o Mol
‘“""'T'T T
| | @’ | |
! J L __J = | |
i I O
L S ! R TR, A B 5 S _-____________;_______________ 4]
.I..i.' d — 3 —+ s M i UL .I'. { . oy i . — ; ]
A Circuit diogram EP A Circuit diagram EP+DA
¥ Correlation of direction of rotation, control and flow direction for EP control
Size K4VG28/40/56 K4vG71/90/125/180/250
__ Rotation e clockwiseR o counterclockwisel e clockwiseR o counterclockwisel
Actuati f ; ; ; -
prgpugo?er:]gid - left ~ right ~ left A right ~ left ~ right o left ~ right
Control pressure Xi X3 X Xz X Xz X Xz
Flow direction A-B B-A B- A A-B B-A A-B A-B B- A
Working DFESQJFE- Mz Ma Ma Mg M, Ms Ms M

6. EZ — Two-point electrical control

The EZ control enables pump flow to be switched between Vg mis and Vg max. By actuating either switching solenoid, the
internal control pressure is applied directly to the stroking piston and the pump swivels to maximum displacement.
Flow direction is determined by which solenoid is energized.

— For EZ1, voltage = 1222.4 V, nominal resistance at 20 °C = 5.5 Q, minimum required active current = 1.32 A;

— For EZ2, voltage = 24£4.8 V, nominal resistance at 20 °C = 21.7 Q, minimum required active current = 0.67 A.

018



'& KEDA
HYDRAULIC

| Gt |
ik [
| |7 =
e— — i
: s e[
L VT
'_"._. ''''' R e I T l_'_
W K ¢ by WA 4 Circuit diagram EZ
YCorreIatlon of dlrectlon of rotatlon control and flow dlrectlon for EP control
Size K4VG28/40/56 K4VG71/90/125/180/250
Rotation o clockwiseR | 2 counterclockwisel e clockwiseR | 2 counterclockwisel
Actuation of : ; : .
pmpﬁ;&z;d | ~ left ~ right ~ left a right ~ |eft ~ right ~ left ~ right
Control pressure Xz X Xz Xi Xz X Xz X
Flow direction B= A A~B A-B B~ A A~B B- A B-A A-B
Working pressure Ma M Ms Ma L\ M Ma M

7. DA - Speed related automatic control
An engine speed-dependent system for travel drives. Flow direction is determined by either solenoid being activated.
Increasing the pump drive speed generates a higher pilot-pressure, with a subsequent increase in pump flow.

¢ Xl M ? R R R I 4 ; B
| ——y a1k T
| === s =) | 3 [k u
B et i SRR =~ 3= SRS
A e oy ] R
| L2y v 13l i i ¢ v 1) |
- ———— —— o T.I_'J; —'—.'—'—:—'—'—'—'—;—_'—'—'—'u—|—'—|
'ACircuit diugram DA D2, fixed setting — ;'Circﬁii dibgr:om DA D3, mechc;nical'lv od}uétol;ié

The built-in DA control valve generates a pilot-pressure Possible to reduce pilot-pressure independently of drive
which is proportional to pump drive speed of motor and is speed through mechanical actuation of the position lever
directed to the stroking cylinder of pump by a 4/3-way (inch function). Maximum permissible actuation torque at

directional valve. position lever is 4 N-m. Maximum angle of rotation is 70°.
e e | |
L e _E_}'ﬂ'"_“i"ﬂ_“il * _| _‘1_“!"'5‘1“ _? L {not mhdulﬂJ
- ! P . F [ By Fa H 5'
r-_J_rﬂELEEEJ_;L___—_‘i o _Lﬂﬂf@-’fz_L
U | e i e Tk LI |
| B HIEW e BT o
%,z{m, ks
Eai SR
| Do o
| I ——
ACircuit diagram DA D4/8, hydraulic inch valve A Circuit diagram DA D7, port as inch valve

Pilot-pressure can be reduced by hydraulic inch valve at Reduction of pilot-pressure can be done by mechanical
port Z, where maximum permissible pilot-pressure 80 bar. actuation of pilot control device that installed separately
Throttle valve for size 28~71; pressure reducing valve for from pump and connected to the pump by two hydraulic
size 90~250. control lines via ports Ps and Y.

019




K4VG AXIAL PISTON PUMP

¥ Correlation of direction of rotation, control and flow direction for DA control
Size K4VG28/40/56 K4VG71/90/125/180/250
.~ Rotation < clockwiseR | o counterclockwisel = o clockwiseR o counterclockwisel
Actuation of

prop. solenoid o left ~ right o left ~ Tight ~ left ~ right o left ~ right
Control pressure X5 X; X3 X Xz X Xa X
Flow direction  B-A A-B A-B B~ A A-B B~ A B- A A-B
.Working pressure- M., Ma Ma Ma Mz Ma Ma Mz

COMBINATION PUMP

K4VG pump can be combined with K4VG/K10VO/K4FO/K11VO/gear pumps, etc. A tandem pump with
two pumps of equal size is permissible. Please specify the designations for the 1°* and the 2™ pumps
and join by a "+" when ordering. Order example:

K4V G 180 EP3D1 /10 R-N S D 02 K72 + K4V G 180 EP3D1 /10 R-N S D 02 FOO
The first row of following table refers to the 1°* pump (P). For informations about the through-drives
(TD), see part 11.

".
il

TP | KAVG28 KAVGAD KAVGS6 KAVGTI K4VGI0 KAVGI2S KAVGIB0 K4VG250
20 < | | A Ao Ao Ao Ao Ao Ao A
KAVG28(S) ;g: 4538 4641 4858 5240 5284 5543 6048 6523

' FO9 |

.K4VG40(U) ko9 - 480.4 - - - - - -
KAVGA0(S) Eg; = - 502.1 539.3 5447 5716 6201 6616
KAVG56(S) Egz = - 5228 5600 5654 5923 6408 6823
K4VG71(S) Eg; - - £ 5972 6026 6295 6780 719.5
' | F73 |
KAVG0@) 70 610.0 =

F&9
KAVG90(S) | o0 - = = 2 = 6449 6929 7459
' | F69 |
KAVGI2S(S) | (0 - - - - - 670.3 718.3 773
'  F72 |
KeVGIBOS) | (o - . - - - - 762.8 815.8

Fi2
KavG250(8) | 12 854.8

NOTE: — unavailable () = drive shaft of 2™ pump

020



B

KEDA
HYDRAULIC

11 THROUGH-DRIVE

K4VG pump can be combined with K4VG/K10VO/K4FO/K11VO/gear pumps, etc. Hub for splined shaft,
mounting bolts, O-rings and mounting plates (when available) are in the scope of delivery.

The first rows of following tables refer to the 1** pumps, while the second rows after "+" refer to the

2" pumps and their drive shafts.

1. Available through-drives for K4VG+K4VG

C1%P 28 | KAVGAOD | KAVG56 K4VG71 , K4VG90 K4VG125
TD + 285 285 40U 285 40S 565 285 40S 565 71 285 40S 565 71S 90Z 285 405 565
k4F4l 0 © - © - - O - - - ©Q - - - - O - -
KRS - ~ S E™ = = = = = = m = o= =N o |
Ko7/,G7 - - - - o O - O O O - 0O O O - - 0 O
K73fF3 - - - - - - - - - - - - - - 90 - = -]
1P| KAVGI25 | K4VG180 , K4VG250

D +| 715 90S 1255 285 405 565 71S 90S 1255 180S| 28S 40S 56S 71S 90S 1255 180S 2505
KosFod] - - - © - - - - = = B = = = = = = = |
komro7l © - - - © O © -~ =~ - - © @ @G - =~ = -
Ke9fs9 - o o - - - - o O - - - - - O O - -
K72f72 - - - - - - - - - ® - - - - - - 0O 0O
' 'NOTE: ® available C upon request - unavailable

2. Avdilable through-drives for K4VG+K10VO

1P K4VG28/40 | K4VG56 K4VG71 _
.TD o 10U 18U 285 28R 10U 18U 285 28R 455 45R 45U 45W 10U 18U 285 28R 455 45R |
Kool © O = = © O - = = = = = 0 0O = = = =
ko202l - - » o - - ¢ 0 - - @ @ - - © © - -
Ko4fFo4 - - - - - - - - 0o O - - - - - - 0o O]
1P| K4VG71 K4VG90

.TD | 45U 45W 63U 63W 71S 7R 10U 18U 285 28R 455 45R 45U 45W 63U 63W 715 7IR
kofft| - - - - - - ©0 O - - - - - - - - - -
KO2fFO2l © © = = = - - = 0 0 - = 0 0 = = = =
ko4F04f - - o o - - - - - - 0 O - - 0 O - -
ko707 - - - - O O - - - - - - - - - - 0 0|
T 1P| KAVG90 | K4VG125/180/250

TD +| 85U 85W 1018U 285 28R 455 45R 45U 45W 63U 63W 71S 71R 85U 85W 100U 100W 140S
KowFol| - - @ - - - - - - - - - - - - - - -
KO2F02 - - - ®© e - - e e - - - - - - - - -
KO4Fo4 - - - - - e e - - o o - - - - - - -
KO7F07 © © - - - - - - - - - e e e e e e -
K696y, - - - - - = = = = = - - - - - - - e
. NOTE: ® available © upon request - unavailable

021



K4VG AXIAL PISTON PUMP

3. Available through-drives for K4VG+K4FO

1P| KAVG28/40/56/71/90/125 | K4VG180 f K4VG250 ,
TD -+ KI1FO16..5 K11FO22..S K1IFO28..S | K11FO16..5 KI11F022..5 K11FO28..S | K11F016..S K11F022..S K11F028...5 |
KO2/[F02 O @) O ° ® ° o) O o)

NOTE: @ available O upon request

4. Available through-drives for K4VG+K11VO

1P| 40 | 56/71/90 K4vG125 | K4VG180 ' K4VG250 .
TD -+ 405 40S 60S 40S 60S 955 130S| 405 60S 955 130S 1455 190S 40S 60S 955 130S 1455 190S 260S|
KMFo4 0 © - © - - - © - - = - - 0 - = - = - -|
KoElFgr| = = @ = B i=poes @ = = = & = [ =& = =ios &l
Ke9fFg9 - - - - - o 0o - - 0 O O - - - © O O - ~-|
K72/ff72, - - - - - - - - - - - - ® - - - - - 0 O
' 'NOTE: ® ovailable O upon request - unavailable .

5. Available through-drives for K4VG+gear pump

1P KA4VG28/40/56/71/90/125 | K4VG180 | K4VG250 _

™ + (F4~22 (N)20~36 (G)32~50 | (F)4~22 (N)20~36 (G)32~50 (F)4~22 (N)20~36 (G) 32~50 |

KOYFO1 ~ © - - ° - - o - -

K02/F02 = (@] 9] & ® ® - O O
NOTE: @ available O upon reqguest - unavailable (FYN)(G) = series of gear pump

v Dimensions of mounting plate/2™ pump's flange/hub for splined shaft/... of all sizes
6. 2-hole mounting plate

H-r4

R4

Al

Code KO1/FO1 (2" pump K10VO10U/18U or gear pump F series 4~22; 2" pump's flange ISO 3019-1-82-2)
S~ 1*P K4VG28 K4vVG40 K4VG56 K4VGT71 K4VG90 K4VG125 K4VG180  K4VG250 |

_Dimensio’n_ B type B type B type B type B type B type B type B type
FO1 2279 239.7 2614 297.6 304 330.9 378.4 426.9
ho KO'II 2279 234.2 2549 297.6 304 330.9 578.4 426.2
Ar | 75 9 10 10 8 9 7.5 "
As | 7.5 9 10 9 9 10.5 7.5 n
Ay | 14.5 18 18 17 - = 15.5 18
A; | ®17.5 »17.5 ®17.5 ®17.5 ®17.5 ®17.5 ®17.5 »17.5
Ni | ®8255 ®82.55 ®82.55 982.55 ®82.55 ©82.55 ©82.55 ®82.55
R4 106.4 106.4 106.4 106.4 106.4 106.4 106.4 106.4

Is iMTOX1,5X15 MIOX1.5X15 MIOX1.5X15 MIOX15X15 MIOX1.5X15 MI0X1.5X15 MIOX1.5X16.5 MIOX1.5X16.5)

NOTE: - unavailable. Missing dimensions means related structure does NOT exist.

022



's KEDA
HYDRAULIC

Code K02/F02 (2™ pump K10VO28S/28R/45U/45W, K4F0165/225/28S or gear pump N series 20~36 & G
series 32~50; 2™ pump's flange ISO 3019-1-101-2)

Code K04/F04 (2™ pump K10V045S/45R/63U/63W, K11V040S; 2™ pump's flange 1SO 3019-1-101-2)
\'“'m]_ﬂ P K4VG28 K4VG40 K4VG56 K4VGT1 K4VG90 K4VG125 K4VG180 K4VG250

Dimensfo'n-_ A type A type A type B type B type B type B type B type
A, | 230.4 240_.7 262._4 300.-_5 305 330.9 381.4 428.9
A; | 9.7 ne.7 n 9.8 n N n N
As 9.7 il 12 13 9 10 1 mn
A4 | 16.2113.7° 17hé" 19.5/18.5 17h5.5° 1715’ 17116.5" 19_}'18' 16/15.5 _
As _ ©24/027"  ©24[/027 ©24/027° ®24/027"  ©24/927" ©24/027" ©24[027" ©24/027" |
Ne 91016 ®101.6 P101.6 P101.6 $101.6 ®101.6 ®101.6 »101.6
Ry 146 146 146 146 146 146 146 146
P 174 174 174 174 174 174 174 174

rsa :M'|2X1.?5)(19 MI12X1.75X19 M12X1.75X19 M12X1.75X21 M12X1.75X21 M12X1.75X18 M12X1.75X21 M12X1.75X21

NOTE: - unavailable: * for code K04 and FO4. Missing dimensions means related structure does NOT exist.

_Code K[_]?!FO‘? £2”“_p_un}9 K4vG40U; 2“”_pum_p's flange ISO 3019-1-127-2)
'“"x.]f_'P K4VG28 K4VG40 K4VG56 K4VGT1 K4VG90 K4VG125 K4V G180 K4VG250

Dimensio’n_ A type A type A type A type A type A type A type A type
A, | - 2447 - - b - - -
A; = 14 = = = = = =
As = 4 = = = < = =
A - 19.5 - = - - - -
As | = ©27 - = = = = =
Ny | = ®127 = - - - - -
R, - 181 = - - = E :
Ps | = 213 = = = = & =
I = M16X2X20 - = s = = =

NOTE: - unavailable. Missing dimensions means related structure does NOT exist.

Code KO7/FO7 (2™ pump K4VG40S/56S/71S, KIOVO71S/71R/85U/85W/100U/100W; 2™ pump’s flange I1SO
3019-1 - 127-2 or 127-2+4)
-'P| K4VG28 K4VG40 K4VG56 K4VGT1 K4VG90 K4VG125  K4VG180"©  K4VG250

Dimension A type A type A type A type B type B type B type A type
A - - 2664 303.6 309 3359 384.4 4259
A | - - 14 13.5 14 15.5 19 14
Ae | - - 15 15 13 15 14 16
As | - - 17.5 20 205 225 17 16
As - - ©32.7 ©33.5 ®33.5 ©335 ®33.5 ©33.5
N, - - 127 127 ©127 ®127 ®127 127
R | - - 114.5 114.5 114.5 114.5 114.5 14.5
Re - - 181 181 181 181 181 181
P, - - 213 213 213 213 213 213
o - - - - M12X1.75X18 M12X1.75X18 M12X1.75X18 -
re = - MI6X2X20 MI6X2X24 MI6X2X23 MI6X2X23  MI16X2X23  M16X2X24

NOTE: - unavailable; * only with 2-hole flange based on SAE. Please specify the type of 2™ pump, i.e. whether the 4-hole,
the 2-hole horizontal or the 2-hole vertical version is used, when ordering.

023



7. 2-4-hole mounting plate

Al

A2

Az

N1

K4VG AXIAL PISTON PUMP

T

3 19—
N R

©

e

R3
P3

R4

P4

Code K73/F73 (2™ pump K4VG90Z; 2™ pump's flange ISO 3019-1- 152-2+4)
Code K69/F69 (2™ pump K4VG90S/125S, KIOVOT40S, KI1IVO955/130/145S; flange 1SO 3019-1 - 152-2+4)
K4VG90 K4vG125  K4VG180  K4VG250

1P| KAVG28  KAVGA0  K4VG56

Dimension|
| A |
A;

As
Ny
Rs
R4
.pj
P4
S
r;

NOTE: —

8. 4-hole mounting plate

K4vGT71

K73/F73 K69/F69

309 343.9
14 14
12 18

®©152.4 ©152.4
161.6 161.6
228.6 228.6
200 200
266.6 266.6

K69/F69 K69/F69

3919 4449
18 17
209 9
®1524  ©1524
1616 161.6
2286 2286
200 200
266.6 266.6

M20X2.5X20 M20X2.5X20 M20X2.5X20 M20X2.5X20

M20X2.5X20 M20X2.5X20 M20X2.5X20 M20X2.5X20

unavailable. Please specify the type of 2™ pump, i.e. whether the 2—h0.|e. the 4-hole or the 2+4-hole version is
used, when ordering.

r3

Rz

P2z

Code K72[F72 (2™ pump K4VG180S/250S, K11VO190S/260S, 2™ pump's flange ISO 3019-1 - 165-4)

S"P| K4VG28  KAVGAO  K4VGS56

Dimension
| 5 |
Az
Az
N,

Rs
Ps
S

K4VGT1

K4VG90 KAVGI25 — KAVGIS80  K4VG250

K72/k72;  Ki2Pn2

391.9 4449
18 17
20.9 9
®165.1 ®165.1
2245 2245
270 270

M20X2.5X20 M20X2.5X20

024



KEDA

HYDRAULIC K4VG AXIAL PISTON PUMP

i

COUPLING ASSEMBLY

To ensure that rotating components (coupling hub) and fixed components (housing, retaining ring) do
not come into contact with each other, the following installation conditions must be observed. This
depends on the pump size and the splined shaft.

2

Cm—

Ei  2nd pump

Dlmﬁ:‘:ri K4VG28 K4VG40 K4VG5h6 K4vVGT71 K4VG90 K4VG125 K4VG180 K4vG250
N ®101.6 P27 ®127 D127 ®152.4 ®152.4 1651 D165.1
D 72 @80 = = = = = =
d 35 ©40 @40 45 @50 ®55 50 D75
[ Lo ®43.4 ®51.4 ®54.4 D66.5 D66.5 ®76.3 @88 104.6
ds ®©55£0.1 ®63+0.1 ®68+0.1 ®81£0.1 ®81+0.1 ®91+0.1 10701 P2
Eq 9505 12.7 05 12.7 05 12.7 g5 12.7 05 12.7 05 15.9 05 15.9 05
E; 7 g i T - T ~ =%
Es | 33 e 4342 T.0% 7.0°%2 6.8'02 7.0°02 7.4+02 6.3°0%

he SAE 8 8 8 8 8 8 8 8

DIN 10 10 10 10 10 10 10 10

NOTE: — unavailable; * tolerance of h; is +0.9/-0.6.

1. Install the specified coupling half onto the drive shaft of the axial piston unit following instructions.
2. Clamp the coupling hub onto the drive shaft or ensure a permanent lubrication of the drive shaft.
This prevents the formation of frictional corrosion and the associated wear.

3. Transport the axial piston unit to the installation location and remove dirt and contaminants there.
4. Install the coupling on the drive shaft of the machine/system in accordance with the specifications.
Fix the axial piston unit (may not be bolted down until the coupling has been correctly installed).

5. Do not install the coupling hub onto the drive shaft of the axial piston unit by striking it.

TRANSPORTATION

Avia lifting strap Avia hooks Avia forklift

025



